NEET QUESTION PAPER (2018)
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AT «qﬁ. Y SESH Ot =

1.  Oxygen is not produced during photosynthesis by |1,
(1) Nostoc 7 AT
(2) Cycas (1) AR
(3) Green sulphur bacteria Q) / TEPT
#) Chare _ g/ S AR IR |
2.  Which one of the following plants shows a very @ P -.-
o isonsip i s o ot Where|g e o S - o) e
FRT RS, @A AR PEDR SGE(Y
ther ? 4 A5
j)zoyr ASS G Sige 5@ A5 TS AR A ?
ucgﬂ | oo
(2) Banana O I ==
@) Hydrilla @ TEF
(4) Viola @ TG A
3.« In which of the following forms is iron absorbed COR 1</ l
by plants ? 3. z oS @ Il Se-q eI = ? .
(1) Ferrous Q) TN )
(2) Free element
@) el
(3) Ferric w)/ E:% |
(4) Both ferric and ferrous @ Wﬁﬁ‘ e
4. Which of the following elements is responsible for ’ ' ‘
it aising burgor i vells ? 4. WWWW@@T‘GWW?
(1) Sodium (1) 1 o © 2
(2) Potassium ) SRR /4 (
(3) Magnesium (3) WSTAREIN v“‘t‘ .
(4) Calcium (4 FEAPEN Y
5. Pollen grains can be stored for several years in|5. IR, F2ABT 47 S W ARG @
liquid nitrogen having a temperature of ST JTHT T JFTS A ?
(1) -80°C (1), -80°C
(2) -196°C —-196°C
(8) —-120°C (3) -120°C
4) -160°C 4) ~-180°C
6. Double fertilization is 6. [P = ,
(1) Fusion of one male gamete with two polar 1) GO SR SENRr-9T T NGRS
nuclei fHeRF «g e
(2) Fusion of two male gametes with one egg (2) ﬁqﬂa -9 TRe G0 e
(3) Fusion of two male gametes of 'a pollen tube
i e T \g{ 5 SRR 5 R S @ o
(4) Syngamy and triple fusion foq mal-q AT
7. What is the role of NAD" in cellular @) e 93 e
respiration ? ' 7. 1 I NAD*F il 1 2
(1) It functions as an electron carrier. © . P mw S T |
Iti leoti for ATP is.
e eventyra, VA8 1 2] ATR el FERRSHRS &7 G|
(4) Itis the final électron acceptor for anaerobic @ = ﬁmi B3 A ﬁf !
respiration. (4) %5 ORTS I SN emgy RaRF |
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8.

10.

11.

12.

13.

Select the correct match :

12)1 F, x Recessive parent — Dihybrid cross
(2) T.H. Morgan — Transductiont
(3) Ribozyme —  Nucleic acid

(4} G. Mendel —  Transformationft
Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphoeytes ?

(1) Tiplasmid

(2) A phage

(3) Retrovirus

(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Biopiracy

(2) Biodegradation

(3) Bio-infringement

(4) Bioexploitation

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

3)

(4) Genetic Engineering Appraisal Committee

- (GEAQ)
The correct order of steps in Polymerase Chain
Reaction (PCR) is
D
(2)
(3

Annealing, Extension, Denaturation
Denaturation, Extension, Annealing
Extension, Denaturation, Annealing

) Denaturation, Annealing, Extension
A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time. This is related to

(1) Sharbati Senora

(2) ; Lerma Rojo
:’3}/ Co-667
) Basmati

Indian Council of Medical Research (ICMR) qb

B.

9.

11,

12,

13.

C

(1) Foxog Sfel - fjegases
(2) f0.9%p. wgol — LTSRN

(8) FRESHEY - S it
@ R GFres - GReEeE

fieie @M siHReIse Wmﬁlﬂ
DNA &R S (S04 Ml 77w =

1 TP P '
2 AT
T(:? EORTSBAR-

)  pBR 322

P O 8 OF SEPTYECR SIHE RO T3
IZSoP @AM 8 Ly Wig (S . TR

d Pl 4 ST &=
BRI
2) IETTST
(8) IFRATTSHT
4) IACGFATEAR

NS T 20 SRS @ M9 GIF T SeFIE
v #ifsmret 3 2

(D 9% SGHGE
fZe116 (CSIR)

@ fPiIe FWE o7 ool wieEEE
(RCGM)

@/ orm WGP om oioTE BeTE
(ICMR)

4y TSEe RSl SeRRsE SRl
(GEAC)

AemiEst 37 oo (PCR) 9 &fF 9ir

AT TG ==

(1) oA, QHGPTA, HEEsTH

2) [SHEEE, YRGAA, wniffr

@) GHGPI, FeprEeT, R

@) foYpEeTA, SRR, G

G RoN @R G Jou soifer G
CT 3, e O’ e duife ag o
QPR SRS SofEs | 9Bt 717 51 s

(1) SRS GE]
(2) <9 @St
(3) Co-667

(4) IPMRS
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14.

15.

16.

17.

18.

19.

Natality refers to {V

(1) Birthrate

(2) Number of individuals leaving the habitat
(3)° Deathrate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on /

1) 21% April

(2) 16t September

@) 5% June

(@) 22 April

Which of the following is a secondary pollutant ?
(1) CO,

(2) S0,

(3 CO

4) O,

Niche is

* (1) the physical space where an organism lives

(2) the range of temperature that the organism
needs to live

(3) all the biological factors in the organism’s
environment

(4) the functional role played by the organism
where it lives

What type of ecological pyramid would be
obtained with the following data ?
Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1) Pyramid of energy
(2) Upright pyramid of numbers
(3) Inverted pyramid of biomass
(4) Upright pyramid of biomass
In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

14.

16.

17.

18,

19.

al et JRIF |
T 29

(2) T Tou G0 Fie Ol FE

3 TR

4) T T TO8 90 Pifero AT FE
ST T A

1) 21«

@) 16 CTTUIR

@) 5[

@ 22 9fE

forare PmiG GNel 7= ?

(1) CO,

2) SO0,

3 CO

W 0

e == :
1) SiET @ S[EM CHIE SR oIt
Sl I IE

(2 SN AR S SR @ HHET A
HIRE ARECT T (S A

) S @I SREA FE A ©F TR
o

e o (AT B R e HRie
e I ?

ol 4 : 120¢

WW : 60g

TU@Q"W :10g
1 fea Prfe

(2) . ALY GO PAIG

@) IEMER e PR

TofER-q  Fole @W b S|
R @ SIRTSH JRote SHEDS BT B1S
Qi‘(gq"?

(1) Cl ( Cl
(2) Fe (2) Fe
(3) Carbon (3) T
(4) Oxygen @) fEESE
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20. Which of the following pairs is wrongly |20, fiEe &@H c@ﬁmﬂﬁ?@s B ©Itd G A 2
. matched ? ' . _ (1) ABO T&E@ DR AP
A1030 blood grouping go-do?mance @ X0 Bf3s AN ol 57 oo
(2) i{ t type ST" W aper (3) ' NBR oMM = ST 92 wpifers
etermination
(3) Starch synthesis in pea : Multiple aiféles @ 5.4%5. wpelr fex
.y 21. ﬁqr@lﬁ BEIIG] S
(4) TH. Morgan : Linkage, i @ e S et
21. Select the correct statement : WG ?{‘{I | 2 ;
1) Punnett square was developed by a British - )
scientist, (?J W"i fﬁ:?mlt@im USOTETA-q  oe o
{2)  Spliceosomes take part in translation. ! : & B9
(3) Franklin Stahl coined the term “linkage® (3) DT “Fore TG G |
{4)  Transduction was discovered by S. Altman. { (@) L‘P‘I-@f ; f\ll] BTSSR P |
22. The experimental proof for semiconservative 22- DNA;.QEW"E‘? tqzﬁ.ﬁ,ﬁM-—ﬁ ]
replication of DNA was first shown in a i '
(1) Bacterium . ' TRPBRRICS )
(2) Plant S %\ "
(83) Fungus - () =AY
(4) Virus @) SIge-q
23.- 0¥ (SO Mo 7% ;
23. Select the correet match : (1) TS JEET G - B
(1) Alfred Hershey and  —~ TMV AT oY = i
Martha Chase @) TR GCEPH SR - fow oy
(2} Matthew Meselson  —  Pisum sativum aF. 30e
~ and P Stahl (3) T CoE - Gt
(3)  Alec Jeffreys = Streptoco?cus ' e
Pl oae @ TR SR GR - i EEE
J&( Francois J acoband - Lac operon SR TG
Jéieqries Monod (24 ) =T 3 arr o =
24, Offsets are .prO.dl:lc.ed by (1) TROTF Rersw
(;) Mitotic divisions (2) SIS FETA
e @ e Ao
L e @) QT o
(4)  Parthenogenesis :
25. Which of the following flowers only once in its = = o ERERE R Gl
life-time ? PRI v
() Jackfruit D P
(2} ~Mango (2) ‘~'§TI[
Bamboo species (3) _‘Q'P‘fﬁ G B
{4) Papaya 4 ,
26. Which of the following has proved helpful in |26- FGE® @M TERY ST B st
preserving pollen as fossils ? TRRE ?
(1) Cellulosic intine 1) PEEiss @9 oBsw
(2)  Oil content @) T sl
(3) /Pollepkits @  CIERe
&) _Sporopollenin @) AR
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27.

28,

29,

30,

31.

32,

The two functional groups characteristic of

sugars are
(1) carbonyl and methyl
(2) carbonyl-amd-phosphate
\gy hydroxyl and methyl
carbonyl and hydroxyl O’?r
Which among the following is not a prokaryote ‘?
(1) Mycobacterium
(2) Nostoc
(8) Saccharomyces

(4) Oscillatoria

Which of the following is mof a product of h'ght‘

reaction of photosynthesis ?

(1) NAPH

(2} NADPH

(3) ATP

(4) Oxygen

Stomatal movement is not affected by
() Light

(2) O, concentration

(3) Temperature

(4) CO, concentration

The Golgi complex participates in

(1) Formation of secretory vesicles

(2) Respiration in bacteria

(3) Fatty acid breakdown

(4) Activation of amino acid

Which of the following is true for nucleclus ?

(1) It is a membrane-bound structure.

(2) It takes part in spindle formation.

(3) Larger nucleoli are present in dividing cells.

(49 It is a site for active ribosomal RNA
synthesis.

The stage during which separation of the paired

homeologous chromosomes begins is

(1) Diplotene

(2} Diakinesis

27,

32.

30.

31.

33.

‘T’@'ﬁ Af5 ferahETe =1

) FEEEE g3 REe
(2) PRI GH\ TG0
(3 ZREHEE 93 WA
(4) FREMAT GI2 YIGRE
fiEre @G ERmRet 737 2 0{
1) RSN //'
@2 T
(3) TP -
(@) BT
T @R SIET TEREE S [edw
GeAMT T ?
(1) NADH
(2) NADPH
(8) ATP
(4) Oxygen
AT B T 9 Foike 7 7
1) e

) ozﬁrrvti
3 \/
(4) 002‘5TTU.<§ y
SIS IACHT TS SRS FA
Q) T4 SRR SE
(2) JFORAE P

3 T ot Ko

(4) SHRE SnfPTe-9F JfFaer
e @i FOEReR-97 & FioR
) X O R OIS 1A |

@) Bar Peifcerslan =1 o7 T |

@ Rooumm @t FR S ﬁ@%ﬁ\sﬁ'
@ﬁﬁ@‘ﬂﬁlf—qq

N/i‘ﬂﬂﬁﬁﬂmmﬁnm TREH-
|

TW@W@WWW
Ve
@)  GRIRPEREP ko

(3) Pachytene (3) IR
(4) Zygotene @) SEEI
34. Stomata in grass leaf are 34. P-9F AR Aadah 3=
(1) Kidney shaped (D qar SFfod
(2) Rectangular (2
(3) Dumb-bell shaped (3) Gn?ﬁ‘@
{4) Barrel shaped M Gk BSIGRISE]
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35. Casparian strips occur in /[35. | T “Af 7120w “inegr T
(1) Pericycle (1) ~fFs
(2) Cortex @ I\
(3) Epidermis 8 IR
(4) Endodermis @) TEEE
36. jll?ﬁs having little or no secondary growth are  [36. @ GRm T Gy @I 'EWW Cﬁ‘f‘ﬁﬁ q0 At
Deciduous angiosperms ORI 29 ?
() Conifers (1) SIGTB WeRS)
(3) Grasses (@)
(4) Cycads 2)) 5
37. Pneumatophores occur in :
(1)  Free-floating hydrophytes ST R FTIRlT ﬁﬂ:i ST AR N
(2) Carnivorous plants 1) & RRCGIFRD {
(8) Halophytes :?/. QSEICH AT N
(4) Submerged hydrophytes A RFIRD? .
. . @) it mEugreEss T
38. Sweet potato is a modified o
(1) Adventitious root as. ?@.ﬁq [ERICC
(2) Tap root 2; TR o1 5
(3) Stem 53 EFI_‘@” ;Fh‘
(4) Rhizome (4; & O
39. iggoiizsyb;y]em and phloem in dicot stem are 39. 3 N w1 e : ZIT‘
({fVascular cambium 5 ig a8
(2) - Phellogen @  FE-qf
(8} Apical meristems 3) Y ORF T 4
(4). Axillary meristems @ I S T
40. Which of the following statements is correct ? fae @ W A 2
(1) Selagmella is heterosporous, while Saluzma (1) ﬁfﬁ?ﬁ‘ﬁ?ﬁf’ﬁ SPGEe R g W’-{_@f
is homosporous. W‘Iﬁf[ |
(2)  Horsetails are gymnosperms. @) ST =1 S |
(8) Ovules are not enclosed by ovary wall in 3 TSI R fore fogpy =
gymnosperms. o | ) ; 1 ;g
(4) Stems are usually unbranched in both ]
Cyous andiCecrus @) ;?;5;?57 R AT GoT-97 IS MIRE
41. Select the wrong statement : ' i :
(1} Mushrooms belong to Basidiomycetes. = ?f ! - :ﬁ S5 _q._/ 1
(2) Pseudopodia are locomotory and feeding ( )/ IR
structures in Sporozoans. F{ﬁg"ﬁ A C’“"ﬁm 58 (oTSH
(8} Cell wall is present in members of Fungi il
and Plantae. @) T O eibre @it s |
(4)  Mitochondria are the powerhouse of the cell B C DT 31 | (- 2 B o = < NRGRFGAT
in all kingdoms except Monera. IR e @a
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42. Winged pollen grains are present in 42, 2RIER TRTS ~INSAT I
(1) Cycas EFT
(2} Mangoe 2 9y T
(3) Mustard (3) HAE
(4) Pinus 4) B
43. After karyogamy followed by meiosis, spores are 43. )FEfIe @l N @ ;é\iiﬂ ! @uﬂﬁg-
produced exogenously in %11 I‘g” SIS @ 7PBIS S i NS 7T ©LA
(1) Alternaria P
@) Agaricus L i‘iz%jj i
(38) Neurospora 2) ’
(4) Saccharomyces Ei; 3‘ & :i'i?ﬂ
44, Match the items given in Column I with those in| 44 EH 1 © m&n I 3% SiE SN YR W
Column II and select the correct option given TwlE S FE! -
* below: TR TR 1
Column 1 Column I a aft @t = T
a. Herbarium i. Itisa place havinga HeTHe B WJe
collection of preserved o1} 2o | :
b. K i I:?i::st;: :;;l:zlites b i, 7fD & ansmﬁ
y ey ii,
methodically all the e y
species found in an area YNART ST X
with brief description SRS Fof] A T
aiding identification. FAC RO P |
¢. Museum iii. Isa place where dried and c. i, 2% G0 FF EATA
pressed plant specimens w3 i Rl Bfem
mounted on sheets are TS B T
kept.
SRER A =R |
d. Catalogue iv. A booklet containing a list 5 p
of characters and their d. iv. <D :[ii Pl TS -
alternates which are Es ifer 3
helpful in identification of SRTE KFE SRR
various taxa. T fifes Briee
a b c d FAGTAT G |
(1) il il i iv Qf a b ¢ d
@ i av @i i s R A
(3) i iv 1ii ii 2 : 1 i
(4) i iv i ii (4) 1 iv i ii
45. Which one is wrongly matched ? 45. L@ o7 I (STG 2ER ?
(1) Biflagellate zoospores — Brown algae (D ﬁﬂ"ﬁﬁ@ BeTe] I hRe R
(2) Gemma cups — Marchantia (2) Pl — NIRRT
(8) Uniflagellate gametes — Polysiphonia g QTS ST — NerTZAIT
(4) Unicellular organism - Chlorella @) QI ST - T
ALHCA/YY/Page 8 SPACE FOR ROUGH WORK English/Bengal




46.

Which of these statements is incorrect ?

(1)  Giycolysis occurs in cytosol.

46.

fisa @m el 78w 777 0
Y7 DR G TR AEEERPRT 90 |

(2)  Glycolysis operates as long as it is supplied (2) IHY 78 NAD GF AR 5o70e AT q
with NAD that can pick up hydrogen atoms. GG GER DEC G| e i
(3} Enzymes of TCA cycle are present in OO BoTle AT |
mitochondrial matrix. @) TCA BT TeOHF ME IRGRARGEE
(4) Oxidative phosphorylation takes place in TiGHY A |
47. Nissl bodies are mainly composed of ) ST GG TG |
(1) DNA and RNA 47. o 3fS tefa o |
(2) Nucleic acids and SER (1) DNA 3 RNA
(3) Proteins and lipids 2 FIoET wfts @ sER
{4) Free ribosomes and RER (8, it 8 FPe
48. Select the incorrect match : % (4)/ &4 RIS 3 REB.
(1)  Allosomes — Sex chromosome 48. (SIGHE BEs @M -
(2) Submetacentric — L-shaped chromosoaées SIS - T @SOSy
chromosomes
(2)  IAR-SHOIAGT - L-®ipfes
(3) Lampbrush — Diplotene bivalenty’ PRSI TSI
chromosomes
i @) ST RIS~ o
(4} Polytene ~ Oocytes of amphibians SRGETS
chromosomes
@ e oS - iR EiEs
49. Which of the following events does not occur in
rough endoplasmic reticulum ? 49, RRe  @F i P TSI
(1)  Protein glycosylation E::gq ST (RER) 905 7 ?
(2) Cleavage of signal peptide f Nt oz AR
(8) Protein folding (2) Prme c&ﬁﬁlﬁt@a fwerzat
(4) Phospholipid synthesis @) bR O
50. Which of the following terms describe human @ IS
dentition ? 50. e @R M Heew Re
(1) Thecodont, Diphyodont, Heterodont Q/I/ RIS, GRS, EEEYS
(2) Pleurcdont, Monophyodont, Homodont 2) f?f@ﬁfﬁ, W, e
(3) Thecodont, Diphyodont, Homodont (3) TGS W’ AT
{4) Pleurodont, Diphyodont, Heterodont @) Premes GERREST &S
E 4 E
8l. Many ribosomes may associate with a single/l 5
mRNA to form multiple copies of a polypeptide 9FfT T1F mRNA SIERE {|§ W T2
simultaneously. Such strings of ribosomes are TR AfTToiGiRG ‘@Gﬁi FE | O 90
termed as DRRICSIFR T Te7l =7 |
(1) Polyhedral bodies (1) Aferghr e 7 }%95%
(2) Plastidome (2) _AlGrshy Q?\\
(3) Polysome tq/
(4} Nucleosome (4) P BTSN/
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52.

53.

54.

55.

56.

57.

Which one of these animals is not a
homeotherm ?

(1)
(2)

(3)

(4)

Chelone
Camelus
Macropus
Psittacula

Identify the vertebrate group of animals

characterized by crop and gizzard in its digestive |

gystem.

(1)
(2)
(3}
4)

Reptilia -P
Aves S
Amphibia
Osteichthyes

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
(3)

4)

Presence of caudal styles

Forewings with darker tegmina

Presence of a boat shaped sternum on the
9'® abdominal segment

Presence of anal cerci

Which of the following organisms are known as
chief producers in the oceans ?

(1)
(2)
3
(4

Diatoms
Cyanobacteria
Dinoflagellates
Euglenoids

Ciliates differ from all other protozoans in

(1)

(2)
(3)
(4)

having a contractile vacuole for removing
excess water

using pseudopodia for capturing prey
using flagella for locomotion
having two types of nuclei

Which of the following animals does ne# underg
metamorphosis ?

(1)
(2)
3
(4)

Tunicate
Moth
Earthworm
Starfish

ﬂﬁﬁ%ﬂsmﬁmm@ﬁwm

|
|

T @ AR TS FF 2

Q) o

@ AT

@) HRPET

@ By

oS! Sl AReFeE @7 8 Preie
Rl SR BRe Il

(1) el

ey g
e

feffie @R @FEs &R foft 3@ oH
SRCIARE & SIECIE QT S FE

Q) FOE DR GAES
@) ST AT ST PR GO A
(3) 9 OF FCH (PR SFIEF FORAM GRS

e ARPT SRS

. e e Y
Y i

(@ T aRebRE

(3) CRITIRFTSIES

@) ESRMSTA

FA ™

1) TEERT open ofele OE
SISy T

@ PrR e Bromsente 3939 6@
&Y v St BT IS TS W
(4) FUACH ORI

FE 2 A7

(3 ofexmf 3t ol
(4) IoRET A CRNE
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58.

59,

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Increased number of bronchioles; Increased
respiratory surface

(2) Increased respiratory  surface;

Inflammation of bronchioles

(3) Inflammation of bronchicles; " Decreased
respiratory surface

(4) Decreased respiratory
Inflammation of bronchioles

surface;

Match the items given in Column I with those in
Column II and select the correet option given
below :

¢ ColumnlI Column I1
a. Tricuspid valve i. Between left atrium
and left ventricle
b. Bicuspid valve ii. Between right
ventricle and
pulmonary artery

¢.  Semilunar valve iii, Between right

atrium and right

58. R o GG Sw S PrpeR o F9fqt

FE T4 (P [ TN@EW YA 3 QPRI
SISt 2

1) CAFFIR SANR; o TTTew

@) IC yToey; SAGIPMAR 2Awg

(3) AR 2wz ST TTeA

) S T, SAIHIER awE

59. STFA I @ MM I 3T ©IF TSNS 932 T3

T *MIF FE!
T R I
a. fares AW SifeT @ I e
b,  fRsiaz ot
c. CifTSaR
1ot
a b

‘ r
ventricle ; '

a b c @) T—si i
U i ii ii \&3’/ 15 gy, )
2) i ii 1ii 5 :

4
@ Wi i i S by
4) ii i il
60. TSI I 8 TRE 11 AP ©IF MEKS 932 FOF
60. Match the items given in Column I with those in Ce3fs *Hrs IE!

Column II and select the correct option given
below : . TN N 1

Column I i Column II a. TSI IgeiamE i 2500 - 3000 mL
a.  Tidalvolume AL i 2500 —3000 mL b.  oant fFaE OfSfie i 1100 - 1200 mL
b.  Inspiratory Reserve )\ii, 1100 — 1200 mL IRE Hfme

1

e &Y c. et feam ofofie i 500 - 550 mL
¢.  Expiratory Reserve " iik 500 — 550 mL IR sifamre

volume R
d. Residualvolume  iv. 1000 1100 mL d. ORCTYIRARWA  iv. 10001100 mL

a b c. d a b C d
(1) i |, 1 iv i (1 iii i iv ii

; @/ i iv it iii 2) i iv ii ii
3 i ii i iv (8) iii ii i iv
4) iv iii ij i @ iv, i ii i
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61. Which of the following is an amino acid derived( 61

hormone ?

(1) Ecdysone

(2) Estradiol
'(8) Epinephrine

(4) Estriol

62. Which of the following structures or regions is
incorrectly paired with its function ?

congists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(1) Limbic system

(2) Hypothalamus production of
releasing hormones
and regulation of

' température,
hungef and thigst.

controls respiration
and cardiovascular
reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(3) ‘Medulla oblongata :

(4) Corpus callosum

63. The transparent lens in the human eye is held in
its place by
(1) ligaments attached to the iris
(2) smooth muscles attached to the iris
(3) ligaments attached to the ciliary body
(4) smooth muscles attached to the ciliary body

64. Which of the following hormones can play a
significant role in osteoporosis ?

(1) Progesterone and Aldosterone
(2) Estrogen and Parathyroid hormone

Refiie @M =oUAG «3fs enmRen S
2T 5o

(1) 9FORH
@ «fifea
@ Pk

@ afgme
82. PRI @W oI% 5154 I SIPF SR IS 03

1y fomfe o9 AT Y 1N R
Tefi 1 W [
SRUT HC S
WW | BeTCT
SRR I |
w8 935 *T T
SIIaRg 5 8
Wwﬁw
R I |

0 QI TSR
A fFas
RS FE | '
I @ ©F FIfErET
SRS |

63. T PN O i aferPre #a1 =

(1) IR S AR AT |
(2 wiEfke e B ¢ I 3@ ’
& e i PR < 1% 7@
@ PiferiR Afeq Y T CAR TS T
64. ﬁﬁﬁﬂGW@%ﬁm@mﬁmgﬁ
A SPIHSTAEIRRT 47 CFd
ST 9 §>‘&ﬂﬁt¥5ﬁﬁ3§;{
C (@ EESH 9RR ARIRIAES

ﬁﬂ?cmmm

@) OTGET SRELAI!

4) TIAAPT PP

|
i
(3) SIESIEoE G2 TR ‘

(3) Aldosterone and Prolactin
(4) Parathyroid hormone and Prolactin (4)  PRINEIESG AW GRR (Ao
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65. Hormones secreted by the placenta to maintain
pregnancy are

ey
(2)

hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, estrogens

(3) hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,
glucocorticoids

66. The contraceptive ‘SAHELI’

(1) increases the concentration of estrogen and
prevents ovulation in females.

(2} isanIUD.

(8) Dblocks estrogen receptors in the uterus,
Preventing eggs from getting implanted.

(4) is a post-coital contraceptive.

67. The difference between spermiogenesis and
spermiation is )

(1) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

(2} In spermiogenesis spermatozoa from sertoli
cells are released into the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formed,

(8) In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

(4) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of
seminiferous tubules.

68. The amnion of mammalian embryo is derived
from

(1} endoderm and mesoderm

65. y?ﬁzm W TR A BT eo]e =3 G 59
hCG, hPL, 20510, Reiifem, sifdie
(2) hCG, hPL, ASOREITSH, ZCGITSH
(3)  hCG, hPL, ATSPTIOISH, CRHRB0
4 hCG, STSPTHISH, EUARCTR
IRPRRBPOTRS] P
SRR M TS IS FE
) ?@ma&wmmm\m

s QM oy | R
(2) 9O G5! TUD |

(3) RSWACH ROFISH 21T 97 iz J1 o
I 93 o7 2iReBIo T 7 |
RAGH SRS AR @7 W ﬂJ“ BIGIEE
o e @ | -

“ANICSTARRT 3 =R 97 A =6

(1) ~RERCSEARS 97 FE ™ RBest
o W o ~REEE 9g wE
= fifoe Cef =7 | Vs

~AIECSEAPIOR 8 G
TR @ Q@ G BeReeE
AT PA ST AR 9F g
~ARCOICSTRT ¢l 27 |

EISEAR 93 T G906 ~ffis
Ty = R ~iRfEET e
= BITSTRT (Sff 27 |
“ARNEICSTANCT T s APfitBiesirRpy
R = oM ~iRAEE 97 sy
=sipficiesrn ElifFereT BoteeEr sy
AR FE |

67,

(2)

(3

68. NGRS O SINRA L (LF 7o
?@Wemﬁm‘ "
@(WGWW N

(2) mesoderm and trophoblast
3 BN S GTAIGH (T
(3) ectoderm and mesoderm
(4) ectoderm and endoderm (4) qﬁ’f@ﬁ 3 QISR (AP
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69.

70.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Heart of bat, man and cheetah
(2) Brain of bat, man and cheetah

(3) Forelimbs of man, bat and cheetah

{4) Eye of octopus, bat and man

Which of the following is not an autoimmune
disease ?

(1) Rheumatoid arthritis

(2) Alzheimer’s disease

(3) Pasoriasis

(4) Vitiligo

@ WW@%&W?

69. FI5a IR SIRTRl ARG Srizad 73 :
(1), IR, TR @ ek TePre
@W,mwae%@iﬂﬂ%ﬁ
5. e, TG S e SR o
(@) ASIBIA, TR B HHH B

1 Remite st
@) SIFRENE @
(3) TTRIPH

(@) oRGREE

7. T SRRIES @M @GR T 5@ TR AN

1., In t}:vhich disease d;:les Fnosquilto tra::ismitte{} R 29E 7
pathogen - cause chronic inflammation o s
lymphatic vessels ? @ . kel
(1) Ascariasis ‘Z)( foeanf ()
(2) Ringworm disease QferHIGaIRR (ﬂ\ﬂﬁ) -
(3) Elephantiasis @) ofRIEeT ()
(4) Amoebiasis 72. W (A, 7R (OR @ on AfEere GAfe =
72, Conversion of milk to curd improves its P
nutritional value by increasing the amount of O [S5FFA ,Y
(1) Vitamin A A FeOifE By, ¢
(2) Vitamin By, (3) >
(3) Vitamin D @ fFOfmE. "
(4) Vitamin B 73, 32 CRMS ARE STMER AR S oo 99
78. The similarity of bone structure in the forelimbs 575 — ST o1l 27
of many vertebrates is an example of 1) SRS
(1) Analogy 2) wiferal ke
(2) Convergent evolution (_5{ RS
Ei; Ezzz;liogeyradi tion - Y @f‘@tﬂ"ﬁ( by y ) |
Vi a
_ , ok 74, FERS @ @REDT NIRRT A6 854 9IS
74. Which of the following characteristics represent oS orfiy 3w & 2 —
‘Inheritance of blood groups’ in humans ? b ’ -
a. Dominance ¥ a. ATl
b. Co-dominance + . B Wﬁﬁ%ﬁ ; |
¢.  Multiple allele v :l ?;’1 of oo |
d. Incomplete dominance 4 '
e.  Polygenic inheritance ‘a) ?ﬁb ﬂ'q’c O'I HIRGe 2
(1) arbamde B SRS
@  bdand @ b,daRe
Peeand.e 3) b,c¥Re
@ “: . 4 ac9dRe
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5.

76.

7.

73.

79,

ALHCA/YY/Page 15

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Mutualism

(2) Parasitism

(3) Commensalism

(4) Amensalism

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column IT
a. Eutrophication i, UV-B radiation
b.  Sanitary landfill\ /ii. Deforestation
. Snow blindness /\ iii. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal

a b c d
1y i iii iv ii
(2) 1 iv i, ii
G i i » @
4) i it iv iii
All of the following are included in ‘Ex-situ
conservation’ except =
(1) Sacred groves
(2) Botanical gardens X’
(3) Wildlife safari parks &
{4) Seed banks X

In a grgﬁgg_@mof a country,

(1) reproductive individuals are less than the
post-reproductive individuals,

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) pre-reproductive individuals are more than
the reproductive individuals,

(4) pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the

drug “Smack” ? ‘gf/‘/

(1) Latex
(2) Roots
(3) Flowers
(4) Leaves

75.

76.

77.

78.

ol Rl @H 439 semeRse AR
SRRl SIFSAEtE tofite @@ AT 5T |

(1) ﬁ'@?ﬂﬁm(/

@, IEPfoey L x

ta( PEACITSH & 17

CON )\ (e o

MR 1@ TN 1 T TR TSite 932 F0F
CEG “Mie Tl

TR 1 X7 I
a. SGEGIREH UV-B 7few
b. TRAE CRCPTo
c. T ARSTPL i *:,[ﬁi Y
d 3JuEm 5 TS A

a b ¢ d ’

@) i i 1ii iv

4y i ii iv 1ii

SR Y HIq Im 7o Geft fora /)

(2) Sim Cne

(3) I ARFR “AF

@ I= (o) s

TP (T TP SePIesrd N

1) ST e Ay SEasied  anfeq
SR |

(2) TN 8 ST SN ISR SRl W |
(8) S OrE ST T2 ST ST qpiftsg

QIR @ |
ywwmﬂ@xﬂﬂmaﬂf’w
S Y | .

790 AP SR @ S QA A (el 2
Sl

g

(2) 7 % e

(4) el
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80. All of the following are part of an operon except forsa @G ST 9T OIPT T ?
(1) structural genes WS &
{2) an enhancer GE L)
(8) an operator (8) SIIELT
‘(4) apromoter @) 25
81. A woman has an X-linked condition on one of her |81, T Ilfi_tﬂﬁ @ 9B X [FHEEHT 9
X chromosomes. This chromosome can be xfgs 7 i | om@ &
ey I5e] RS T P A AR 2
(1) Only sons (1) ©YIE o
(2) Only grandchildren @ WD oo T
(3) * Only daughters - 3) WW ' »
: (4) Both sons and daughters @ @ 9 O aE
82. According to H;.lgo de Vries, the mechanism of | gy REEl fo-amy 3 g “"Hﬂﬁf RR$ET el
evolution is ’iﬁf
(1) Saltation
(2) Phenotypic variations @) W I (S
(3) Multiple step mutations: 'NJ( 72 S RFE SRR
(4) Minor mutations @) U sAfrRe
88. AGGTATCGCAT is a sequence from the coding Gt e @ifoe S 9 @ =
strand of a gene. What will he the correspcmdjng(® oLt oy A 3 Eo RIBIE N
sequence of the transcribed mRNA ? o 7| O GG mf A
(1) UGGTUTCGCAT LERIEMERS ﬁ-jlt@. TFHIAI @0 2J ?
2) ACCUAUGCGAU (;) YOGILIEACAT Aol
(3) AGGUAUCGCAU (2 ACEUATIGEGAT ¥y
4) UCCAUAGCGUA @) AGLUAUCGEAD
(4) UCCAUAGCGUA
84. Match the items given in Column I with those in £
Column IT and select the correct option given 84, SR 18 STRA I I SIS GR 7
below : BERAB IS I
Column I Column IT FFR I bR e
a.  Proliferative Phase i. Breakdown of . IR W | qremcREeE stk
endometrial W@W‘T
lining b ; a
b. . Secretory Phase  li. Follicular Phase c. TGO iii. G“H‘f_ﬁj@-ﬁﬁ]‘
¢.  Menstruation iii. Luteal Phase - b c
8~ DBag.e W i i i
1 i idi ii ' \V " G
2y 1 iii i B :
® & 6 ® @ 8 @
@ @i ii (), iR i
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85. Match the items given in Column I with those in |85, S I @ SN 11 7w OE SIS 32 FoF

Column II and select the correct option given
below :

Column I Column IT

Accumulation of urie
acid in joints

a. Glycosuria 1.

b. Gout ii. Mass of crystallised
salts within the kidney

¢.  Renalcalculi iii. Inflammation in
glomeruli

d. Glomerular v, Presence of glucose in

¢« nephritis urine
a b c d
1 i ii iii iv
(2} il iii i iv
3 i ii iv i
4) iv i ii i

86. Match the items given in Column I with those in
Column II and select the correct option given

below ;
Column I Column I
(Function,) (Part of Excretory
System)
a.  Ultrafiltration i. Henle’s loop
b.  Concentration ii. Ureter
of urine
¢.  Transport of iii. Urinary bladder
urine
d.  Storage of urine iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

a b c d
(1) iv i i iii
(2) v iv 1 ii
(8} iv v ii idi
) v iv i i

el e BET
FTT 1

(3) iii ii

S v
86. EA I @ AR 11 T O SMoe e FoF

FFI 11

et 20w
ST St 76!
P17
SIOR 8 oo
ST 8T
CIHIETIE R

Ta Jepren
GofEfs

iy

TG s @l -
TR I T
(F717) (Gexery Bwg o)
a. i _ @iﬂﬁf
b. i @
d. Ay RSET
FRAITT]
MEMSICRIGE
‘Q/ﬁ b c d
v i i iii -
(T———t———i
@ v v ii iid

. )
(4) =V ~—v—""1  Nii
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87. Which of the following is an occupational
respiratory disorder ?

1)
(2)
(8)
4)

88. Calcium is important in skeletal muscle(

Silicosis
Botulism
Anthracis
Emphysema

contraction because it

(1

2)

(8)

(4)

activates the myosin ATPase by binding to
it.

detaches the myosin head from the actin
filament,

binds to troponin to vemove the masking of
active sites on actin for myosin.

prevents the formation of bonds bhetween
the myosin cross bridges and the actin
filament.

¥

@ NPT L SRl SE 5

3 et ?
PifeTciBeT

(2) Ik

(3) 9AAPET

(4) QTFRCH

FEAREN SR G AE [eR S I

(1) TEIPH ATPase €3 JFEA O Ol
I |

@ WEPH wEor Sty . S8 AT
FA |

@) GUeFA 9F S I, T NIRRT
SR HGET IH

CoRTe IRMA I |

89. I AFEAN @ AT O QRECATERFT
89, Which of the following gastric cells indirectly SRR I ? Nl
(1) Mucous cells (2) q &N
(2) Goblet cells i foF &N
(8) Chief cells (4) ~IRE0E @F
(4) Parietal cells
90. JRA 1@ STFA I ST S ASIS «IR H
90. Match the items given in Column I with those in el e IE! -
Column II and select the correct option given TR TR
below : ' '
a0, TREECSH . i SPIEIGS dienm
Column I Column IT SRS
Flbmufgen 1 Osgptlc ba.lance b g,lﬁ@%ﬁ i TEEEH |
Globulfn u Blood clotting . . W i, oo ;
c. Albumin fii. Defence mechanism
a b c
] . @ i ii iii
1 i ii iii |
. - 2y i iii ii
(2) i iti ii \(3/‘ |
@ i i i ) @i i i
4 i iii i {4y ii iii i
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91.

92,

93.

A battery consists of a variable number ‘o’ of |91,

identical cells (having internal resistance o
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I ‘
§h) T ;
0 —=n
II :
(2) T
8] —n

1
@t .
O -sn
I
@ T‘ /
0O —n
A carbon resistor of (47 + 47) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1) Yellow — Violet — Orange — Silver
(2) Yellow — Green — Violet — Gold
(8) Violet — Yellow — Orange — Silver
(4) Green— Orange - Violet — Gold

A set of ‘0’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1) 11

2) 20

(3y 10

4 9

92,

93.

o ARSI v SesRE @IMT SEIE
Sfo @R A (G n AfRRRES) PRI e
I 28 | QIR 2 CYSHAB S F1 79 | G
93 I3 U4 ©fOS 1R Nial I qoft 567 | 1 97

S n @7 0% @TUfbaf 25
I

® f
0 —a1
I

@ !

O —>»n b‘( Af

TSR /h ©
@ 1 s f(

A b Y

e J ”qgov\ @E

) Y J

; o i

(4) L o)
5 0
8] —»1

(47 £ 47) kQ AT G0 AN BIF S G
TR Riea eaq ew, Py _sftsce. st 2=7 | 2
R 0 T 21
T, — QB — FHE! — FAAN
(2) #—W—mﬁ—mmﬁ
@) @SN - T - I - FAR
@) TS - I - TSR ~ I
Y RYF FEGE @ R &N PRIE R
S @I 3 E ©f5e 5P 9o (emf) BT
<GB OG- TR A N PRIE I F47 22T |
@R fEPe eRENEl qoRE I 93| 8%
MAT AN G OfGR (FIH N ST
TR J& 31 25 932 GO fiPTe sreral
10137 | ‘v’ 9T 79
1 11
2 20
3) 10
@ 9
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94, An em wave is propagating in a medium with a
velocity TV) = V? . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along
(1) + z direction
(2) —vydirection
(8) - zdirection
(4) —xdirection

95. The magnetic potential energy stored in a certain

L

inductor is 25 mdJ, when the current in the
inductor is 60 mA. This inductor is of inductance

(1) 13888 H
(2) 1383 H
(3) 0138H
(4) 1389 H

96. The refractive index of the material of a prism is

V2 and the angle of the prism is 30°. One of the |

two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 45°

(2) 30°

(3) 60°

(4) =zero

97. An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 36 cm away from the mirror
(2) 30 cm towards the mirror
(3) 30 em away from the mirror

(4) 36 cm towards the mirror

94, qusﬁqmmmﬂ?=v?
9% SIOR SR THITR SIS T + y OFF
W TE TP OFF GHACE HeH
Pt 21

1} +2z € RE
(2) -y A
«(3) -z RH
4) -xJW€RT -

95. 7 TIT FSANSG 60 mA e #ATH FE
&5 Tee FF fifc *feq ARmH 25 md |

FRGA AT

(1) 13888H
(2) 1389H
(3) 0138 H
(4) 1389 H

96. I fSOR SR dfs TR V2 @I <
@ 30°; Sty 70 OEW 9P ©H FER
AT SRR ol SRTe P TRE | SR
OE GFTG G ETREA Sfes =z G
FOR (7 O dforlte 2@ 92 N @8
R) | 33 TR SIS (T
(1) 45°
@) 30°
(3) 60°

@ T

97. 15 om FRPTEY RPE G0 oI Rof THeT
40 em A IO BT 941 25 | 38 TERACEE OFF
F[RT 20 em WACR T OF@ M@ o
AfeRitam ST
(1) wfq QT 36 cm TH
(2)  7fa TP 30 em IR
(8) o (I 30 cm TA
(4) WA CP 36 em TR
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= A
98. An electron of mass m with an initial velocity |98. V =V,i (V, > 0) #13f= sife@sl 52 m ©@a
— A = A
V=Vyi (Vg>0) enters an electric ﬁeld(/@ GG BETET E = - Egi (Eo=aF>0t=0
g :
E =- EO? (Ey = constant > 0) at t = 0. If Ay is | TP ST P | B8R ETEAT AT
its de-Broglie wavelength initially, then its R Ao T t PR 8fog
de-Broglie wavelength at time t is - X S O RIOTE B’
: E
eE 1+ 3_0_
1 Aal1+280 Ao [
o) 0( T v, t} _’__,Jﬂ»—l/’
Kg (3) _ﬂ__
3) B [1 eE, tJ
] e 'Q. \
J_¢ K
[1 i mVy ] mVy » P ‘{{f
' @ i
@ 2 ho A3 ng!
99. When the light of frequency 2v, (where v is|99, 43I0 ST BGR (PR Sfes Qe afng
threshold frequency), is incident on a metal T 2v, (PII A vy T Sl Wyﬂ:\@-) Gl
late, th i locity of electr itted
Pa e maximum velocity of ele Ol‘lS.B]J'l-l ﬁg% e W_’ﬂ@i@‘ﬂ v | e
18 vy. When the frequency of the incident o =
radiation is increased to 5vy, the maximum PR Fof1e vy R(eT ﬁJI.G ic\.._.___#___...ﬁc— m
velocity of electrons emitted from the same plate SO AGE Vo | vq G vy 99 GG
is vo. The ratio of v, to v, is (1), 1:4 —— v -
Q) 1:4 o _ 1 R
4:1 C.V v ie
(2) 4:1
3 1:2
4y 2:1
100, The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is .
1y 1:-1
2 2:-1
@ 1:1
4) 1:-2 4) 1:-2
101. For a radioactive material, halflife is 101, qusfs C@W W (ﬂa‘rﬂ 10 ﬁﬁﬁ | ¥ AR
10 minutes. If initially there are 600 number of
" ) E S 600 ¥ F=s Ko7 ofrm 1w 450 B @
nuclei, the time taken (in minutes) for the =
disintegration of 450 nuclei is TOI (iﬁl ICE._) i ,{5
1 10 1) 10 2 G
@ 30 ol @ 80 T £
Ugli /V \'\
3) 20 % S35 20 o
4 15 4 15
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102. Unpolarised light is incident from air on a plane
" surface of a material of refractive index ‘W. At a

103.

104.

particular angle of incidence ¥, it is found that
the reflected refracted rays are
perpendicular to each other. Which of the
following options is correct for this situation ?

and

(1) Reflected light is polarised with its electric

vector perpendicular to the plane of
incidence

i=gin? [l]
an

Reflected light is polarised with its electric
vector parallel to the plane of incidence

(2)

3

4)

i=tan? (l)
1l

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 em. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to
be changed to

(1)
(2)
(3)
4)

1-9 mm
2-1 mm
1-8 mm’

17 mm

An astronomical refracting telescope will have
large angular magnification and high angular
resolution, when it has an objective lens of

102,

103.

1040

I AW RO G0 SN B ARSTRIER
o GG WY Row e wiifes 28 |
@me [ oereT @ 9 T o I
Afewlere ¢ e I s AFelr U |

O3 G0 MES @A I JA15F 2
1) dAfewhTe 3B IR o7 «3e «its e
(o94fG SeA ©FE A7 Si[@ AT

}Z( i=sin? {l] = -
K

sAfemiere afn sRiSe 33 W3R wiba Bive
(S0 NS SET AT 9F8 TS

3

Y M
r/xo"\ _&}'
(4) i=tan—1[—1~] s <,\“"‘ '
1
G 339y fafaw waEE SARe

7Y d T 2 mm, HASS SIEIR S, A 93
NI 5896 A G327 (AT IR 799 D 99 Y
100 o | CTARR GO ARTET (@ JYE
0-20° €% (FIFF JTLA 0-21° FACO @ (A R

D) & SiRfde @y fameE 7Eegd M F90S
2"

(1) 19mm

(2) 2'1mm ﬂ%

(3) 18mm

4) 1-7mm

9Tl sErEefes dfenss @t @ @R

[ ¢ @ ReEeh I9 ofts 23 T4,
Sfwers @ToAoa

(1) large focal length and small diameter () IR AT R QR P AP

{2) large focal length and large diameter @) ST R TS AR P T

(3) small focal length and large diameter (8) H TN 7[99 9K i T

(4) small focal length and small diameter (4) P FIPET GF QR P A
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105. An inductor 20 mH, a capacitor 100 PF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is
(1) 043W
(2) 2274 W
3 079w
4 113W

106. A metallic rod of mass per unit length
05 kg m™! is lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
mégnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is
(1) 598A

(2) 1476 A

3) T14A

4 11324

107, Current sensitivity of a moving coil galvanometer
i3 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1 250 4 \/

2) 25080 1} = ? e
-

3 400 'Sﬁ 1—/,

4) 50080 /6.

108, A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational potential energy. The work
required to do this comes from

(1) the magnetic field

(2) the lattice structure of the material of the
rod

105. 20 mH FTH I, 100 uF TET <0G 475 @
50 Q AW <3G @Y, Bf5e BRRF T (em),
GG V = 10 sin 314 ¢ SR o IR AT
& 2 | 9% THNS TSR
(1) 043 W
(2) 274W
(3 079W
(4 113W

106. @ﬁmmmaw?ﬁaﬁmo-'skgm-l GG
A @3 PF SHERGT MR 300 @IE TS
O OIS ©E A R | 0-25 T
cﬁwmaa&aimu‘]wﬁ%@am
AN AT % W Pieget «Iot SGHeT = |

TGP R U o RIS gt 2w |

(1) 5984

@ 14764 ,,c’e%

@ 7144 &l ff‘:? o/
@ 11324 & % o %

107. 93 BPSA  sUETSIERGET 4@ (g
CIFRRE  Sor  @iFe  Sher) FIet

5 divimA R <ty Remjafet 20 divv,

\BE 5|]|E]\31|G"ﬁ5|@ d @ | o = §
1) 25Q 5 - o
2 2500 b _ P
3) 40Q 5
'Jr—'
4) 5000 LEE Ak
e

108. 935 “fweT Reapaecs vl O @l whve
mﬁmwmﬁwaﬁfs@gm
FFT® 491 B T30 ATefl SHr 51 @ it
PP OFad IR QSR W ) qreea Rorpaal
Rt Rfofie 1o e 1 <8 1R ol =
1) T CFG QP
2)  Forpaa oM SR s (e

(3)  the current source (3) ﬁ‘ﬂ@ G R
(4} the' induced electric field due to the @ TR PR ARTEE EPS Bive eRma
changing magnetic field T
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109. A tuning fork is used to produce resonance in a

glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ¢cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339m/s
(2) 350 m/s
(3) 330m/s
(4) 300 m/s

110. An electron falls from rest through a vertical

distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 5 times greater

(2) 10 times greater

(8) smaller
(4) equal

111. A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s® at a distance of 5 m from the mean
position. The time period of oscillation is

1) =ns
2y 2s
3 2ns
4) 1s.

112. The electrostatic force between the metal plates

of an isolated parallel plate capacitor C having a
charge Q and area A, is

1090

110,

111.

GFfG ST MY G P A S
AT P oW | 8% AETE IREEd G <0
Proem e RS @ 5 | 27°C SPmaE
I R 20 em S 73 em T A GO
SR A = | TPRIPR FAT 320 Hz 2@
27°C SPIAR & SIS |

(1) 339 m/s

2 350m/s

(3) 330 m’/s

4

(4) 300 m/s

w9 TRy ome I E efe oradiren RFE
T G0 2EE F oRER ® FE h 1Y
wfeey TR | SR @8 @0 SRoR. Al
firs GoTB (ST T | 9IR GFIG (AT 9% B
oFa i oRE T 9F8 O h TG Tion
FE | R R SERGEAR TR SifowTs
R

1) 534 @
@ 1099 @
3 I

4 933

TRE CweR @I IO TN G0
i B R e e o e e B e e
W | IR o SR Pty SRR T
TG 5 m O3 OF T 20 ms® | GERIGA
et

(1) =s
&
(2) 2s &
v
(8} 2ns g, /{
4) 1s v

e it e e 112, 936 FoF WEAE-S T L7 C,
inearly proportiona e distance £ .
between the plates. AfooNTS ST AT Q QR CFarFe A 2
(2) proportional to the square root of the IIEﬁE.lWIQ.l SR S I
distance between the plates. (1) e W |
3 ilidfependent of the distance between the @) I TR TR q‘sf{(‘aa WQ"‘@’ |
plates. o2
(4) inversely proportional to the distance ® e g T G forea e o
between the plates. @/ IS AR, FTEECTE AV |
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113. The volume (V) of a monatomic gas varies with | 113, 75 BG4
its temperature (T), as shown in the graph. The SIS (V) e Efta P ARRSs

ratio of work done by the gas, to the heat & e
absorbed by it, when it undergoes a change from SR 1 A ORY QTP B SRER AN

state A to state B, is T ST TSP W G 5@6 G_'C‘EETW
f fli St
" <
A ;‘4 @)ﬂr
0 —» 0O /T
2 2 Bt
a =2 n = 7
3 3 3 4
1 1 "
(%) 3 (2) 3
9 2
3) o 3 3
2 2
@ = S

114. The efficiency of an ideal heat engine working [114. 930 S Wiy e ©% mME o, fg
between the freezing point and beiling point of RS SPINEl Sfe W \3 NI S

water, ig

, ety el
(1) 20% f? 20% ﬁﬁ_
2 625% 2) 625% \ X
() 26-8% 3) 268% "
@ 12:5% 4) 12:5%

115. At what temperature will the rms speed of|118, (1 SIFMIAR SIS S I5(-HE-TT (rms)

oxygen molecules become just sufficient for S5 W
escaping from the Earth’s atmosphere ? . il 1 IS Iif\@ QOR 5

(Given : i = J _26
Mass of oxygen molecule (m) = 2-76 x 10~28 kg ( . SO () = 2:76 x 10~ kg

Boltzmann’s constant kg = 1-38 x 10722 J K1) W ¥TF kp =138 x 102 IR
(1) 8360x10*K

(2) 5016x10*K

(3) 2508x10*K

(4) 1254x10*K

116. The fundamental frequency in an’ open organ 416,18 il SO YR KT ot

pipe is equal to the third harmonic of a closed <« i 0| Gl ? o G Pl
organ pipe. If the length of the closed organ pipe FAT W 1 AR JRIY SR AER o=y

(1) 8360x10*K
(2) 5016x10°K
3 2508x10°K
(49 1254 x10*K

is 20 cm, the length of the open organ pipe is 20 em F W AT SIS o707 201
(1) 8cm (1) 8em J
(2) 125 cm (2) 12:5cm =3 A
(8) -13-2cm 3) 132cm 4
@ 16cm 4) 18em %
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117.

118.

119.

120.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 6F

2y 4F

3) 9F

4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 X 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
“olume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087d

2) 422J

(3) 104:3d

(4) 8454

The power radiated by a black body is P and it
radiates maximum energy at wavelength, Ag. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %}\,0, the power radiated by it
becomes nP. The value of n is

v

(2}

3 -

51
256

A small sphere of radius ‘" falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is

(4}

117.

118,

119,

120‘

o SR Sied IR GoIm T | AN,
ProlT OIAT ABRTE (PaFest JT A 4T 34;
F 9@@ oI BHE 2 SRy Al TE
e I ARG RO OFA CR@s @R AT

W A ? ('Y\_ qﬁ
2) 4F /'\/ R 67
38, 9F ‘k‘/ fo

) F g

100°C SPNEE 0-1 g ARAN SER FEICE B4
BTt (1013 x 10° Nm™2) 54 cal SI7MIfE ST
100°C wimER P50 Fmfe F T | OFS
RO OIS 167-1 cc e AL S
g«

(1) 2087d

2 4224J

(3) 10437

4) 845J

«7ft 7o I RFke e P aw «ib A
s Wi e [fEfke @ | 99 o8
TR Sl ARRST FAR T @ SO
Wﬂf@ﬁﬁsﬁﬁmmﬁﬁﬂ%maiw
ke e nP 3@ n 9T ¥F

o %

@ -285—16
@ %

@ % _

v TR @ FES e R oRER 9Fin
T O @ 2 | 9% T - SAET TR T
TS, I doid werfen Gedlfs = | I@ 0
A 5ifts 2] 21 STy BesmeTd

proportional to 1 12
o 5
@ @) r
@ 1 @
@ 1! @
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121. In the combination of the following gates the 121, 7% @IfF® &% ¢F Y7 MA@ A W92 B N@CR
output Y can be written in terms of inputs A and Y ST Faferris @ st siide
B as =
Ae Be— Y
Be—7 ][
o %@ (1. A.B+A.B
>
(\1}/:& B+A.B (2) A.B+A.B
(2 A.B+A.B 3 A.B
@ A.B 4 A+B
4 A+B 122. P OfFe ISTite P R (vp) = 20 V,
. . _ Vpg = 0 9R Veg = 0; I, Ig R p <7 AW
122. In the circuit shown in the figure, thg_lg_gut TR
voltage V; is 20 V, Vpg = 0 and Vop = 0. The 20V
values of I, I; and B are given by
, 20V £ Re S 4kQ
Rp =
V.
" 500kQ B
E
Ip=25uA, Io=5mA, =200
() Ig=25uA, Io=5mA, B=200 55 @ 1p=20pA, Ig=5mA, §=250
(2) 1g=20pA, Io=5mA, B =250 3) Ip=40pA, Io=10mA, §=250
(3) Ip=40pA, Io=10mA, =250 @ Ig=40pA, Io=5mA, B=125
(@/IB=40uA,Ic=5mA,B=125 123, O AACGIR TE 9F0 pn TREG BSTI
‘ SRl IR G, T
123. In a p-n junction diode, change in temperature 1) @Y A RGN (TRAG) @N@s soiffe
due to heating FE |
(1)  affects only forward resistance (2) 3% p-n MG @G 4K AT A1 |
(2)  does not affect resistance of p-n junction @ vy [fe (Fep) ane aoiis
(8) affects only reverse resistance FA | ,
(4) affects the overall V - I characteristics of M 8% p-n AT TV-1 B 2ol
p-n junction FH |
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124. The kinetic energies of a planet in an elliptical | 124, W 5@% @m A 'Tf:ﬁs]'@[ A, B 932
orbit about the Sun, at pc:aitions A, B and C afre C m 97f6 siad sifte e I Ky, Kp 932
Ka, Kg and K, respectively. AC is the major & S AC &5 S
axis and SB is perpendicular to AC at the Ke | {esa 4 ARG 9 RS
position of the Sun S as shown in the figure. SB IBtﬂIﬂ:llﬂ A 21 AC @97 &17 | S
Then B
I L, T
e A ¢
{1) KA - KB = KC Q/KA > KB >°KC
(2 Kp<K, <Kg (2) Kp<Ky<Kg
,® Ky<Kp<K¢ (3) K,<Kp<Kg
4) Kg=>K,>Kq 4) Kg>K,>Kg
125. A solid sphere is in rolling motion. In rolling [125. i FEE EiTE WFH Tooea WHT ST
motion a body possesses translational kinetic 57 R @ R
energy (K;) as well as rotational kinetic energy Ao, | G BT 8% 5y
(K,) simultaneously. The ratio K; : (K, + K,) for (Ky) 932 g sfierifis (K,) 9ftR 3699 1 9oswa
the sphere is K, : (K + K) @9 A
1) 5:7 1) 5:7
2 kg (2) 10:7
3y 7:10 L=
4) 2:5 3 7:10
4) 2:5
126, If the mass of the Sun were ten times smaller N i
and the universal gravitational constant were |126. I AT & T BT I IR 9% TR &
ten times larger in magnitude, which of the qE 7 929 @0, 1T O S &= @ﬁ;ﬁ ?
following is not correct ? S T
(1) Walking on the ground would become more 1 \2% IY-SA3 FHFA Z 4 .
difficult. @) G A (TR (U P I AT |
(2) Time period of a simple pendulum on the ifﬁ? 2151 S E‘- FEED [-pwr
Earth would decrease. y ) 2ol
(3) Raindrops will fall faster. @) SRS ‘g 9T T TS A |
(4) ‘g’ on the Earth will not change. 127. <3 FEE of I& SRE @R I ‘
127. A solid sphere is rotating freely about its SOiE SRI @ | &b ©F BF @y ofta
symmetry axis in free space. The radius of the it G oo
sphere is increased keeping its mass same, Zﬂ% T = il e A
Which of the following physical quantities would % (I S SR AT
remain constant for the sphere ? 1) SO SqNF
(1) Moment of inertia @) W e
(2) Rotational kinetic energy () SR SIRSEsT
(3) Angular velocity @ "
(4) Angular momentum : T
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The moment of the force, F =41 +5j — 6k at

- A A A
128. 128. (2,0, - 3) R9(© 2 JT F=4i +5] - 6k
2,0,-~ 31, about the point (2, — 2, — 2), is given by 9T (2,-2,-2) W T So© ST
4 A A A A A =
1) -4i-j -8k (1) —4i-j -8k
A A A ,
@ -71-87 —ak @ -71-8j-4k .
o AT A
8 -81-4j -7k (3) —8? _43\_71';
7*’.‘ 4’.‘ A A A A
4 -7i-4) -8k @ -71 -4} -8t
129. A toy car with charge q moves on a frictionless ) =y
horizontal plane surface under the influence of a |129. q "SI SRS PG X G E VRSl
uniform electric field E . Due to the force ¢ E, CFEd A 436 Sryglie PeE seme |
its velocity increases from 0 to 6 m/s in one eE I 9ei@ 1 CTs offd sifems @
second duration. At that instant the direction of 0 I 6 m/s 3 | 5% O m wioe GFafty
the field is reversed. The car continues to move & O caedl 32 (R (I SISl (IEIG
for two more seconds u1.1der the influence of this P : .FC?'T T -0 > :
field. The average velocity and the average speed i
of the toy car between 0 to 3 seconds are R (Tt ||§|IE.1 TG SifewsT @ GIFRS JAFCT
respectively (1) 1m/s, 3mis
D) lmfs Smis (2) 1ms, 3-5mis
2) 1m/fs, 35m/s 3) 2mfs, 4m/is
(3) 2 ma!S, 4 WS {4) 1'5 me, 3 m!S
4) 15mfs, 3m/s 130. BAPIE 0 @I TS 936 PF @ @
130. A block of mass m is placed on a smooth inclined ABC 897 Y36 m ©@E 79 a1t i | 8% T8F
wedge ABC of inclination € as shown in the & : ﬁ; &y j
figure. The wedge is given an acceleration ‘a’ il E]i\2ﬁ” I Q9O GV ‘@’ A P 2T |
towards the right. The relation between a and 6 206 3 @9 97 = B8 I S a G2 09T
f‘:r the block to remain stationary on the wedge 0 9% 29
1 3
N a4 A
) 2
a : it
G =
C = . B C ¢ B
- _8 (1 =
@ = £ @;/a 5in 0
(2) a=gcos® a=gcosO
-_ 82 3 a=-—2
@ a= cosec B cosec 6
(4) a=gtan$ (40 a=gtan®6
131. A student measured the diameter of a small steel | 181, 0-001 cm wEreNlcs (RPS FET) RFE sl
ball using a screw gauge of least count @*W IR 9T 2 a3 Beq T
0-001 cm. The main scale reading is 5 mm and - Iy
zero of circular scale division coincides with I AW PR | CTAT AR A T 5 mm QIR
25 divi}fions above the ti‘efegence level, If screw JF ORMIFET 256 WS ©F €@ wm ) ofh
gauge has a zero error of — 0:004 cm, the correct A v _ o
diameter of the ball is G o -3 - 0004 om T TG A2
(1) 0525 em (1) 0525 cm
(2} 0053 cm (2) 0053 cm
(3) 0521cm (3) 0521cem
@) 0529cm (4) 0529 cm
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132, Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

1) Wy>Wgp>Wg
@) Wg>W,>Wg
3 Wg>Wp>W,
4) Wy>Wg>Wg

133. A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e} will be

(1) 025

2y 08

(3 05

4 04

134, A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

-

a2

A
@ D
@) %D
@) %D
@) %D

185. Which one of the following statements is
incorrect ?
(1) Limiting value of static friction is directly
proportional to normal reaction.
(2) Frictional force opposes the relative motion.
(3) Rolling friction is smaller than sliding

132. foAlG 3], A : (‘ﬂﬁﬁﬁﬁﬂmﬁ) B : (90
q@RE BEfs) 932 C : (90 JORPR_ =)
AoiRT ©F M 432 PG R | AteRiG oW
Wmmﬁl@ﬁmwws@%
[ | a@fe B SRET SEE S W
TN (W) 20T 0P TR0 TR
(1) W,>Wp>W¢
(2) WB>WA>WC i )
8 Wg>Wp>Wy O
4) Wu>We>Wy ol

188. m ©ET B oA 8 4m SIRFE FE BE
TS FE | SIS T el o 27 S
Y | Tt LT IBHT AT 6@ v =, S
1fEg AT B (e) HF A
1 025
2 08
(3) 05
4) 04

134, WFT TS SER h THe! AT 90 | 9%
SR SN @@ PIRE oIt @3 G o AfFHRS

«JG AB = wamwﬁm

©23% h Sl 3@
i B
| )
A
1) D
7
(2) gD
3
(3) ED
5
ZD

135, ?ﬂ@ﬂﬂaﬁﬂﬁ At 2
s o @ b o alfefey
SRS |
2 ﬂ#ﬁqﬁ@ﬁﬂ?ﬁﬁﬁsﬁf@aﬁﬂﬁt@w

friction. 3) ¢ T BT el W ST @
(4) Coefficient of sliding friction has W N/
dimensions of length. (4) Rl g SEIRET OEs N S 27 |
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136. The correct difference between first- and 136. 240 @03 Her &N i o A Sfi=y
second-order reactions is that : -
(1)  the half-life of a first-order reaction does not ‘
depend on [Aly; the half-llife of a J(K( AN @ [T o -SaFe [Aly 9
second-order reaction does depend on (A, }9@ %3 3@ T faSi_wn i
i N .8
(2) a first-order reaction can be catalyzed; a S-Sl e (A, 99 WEE R
second-order reaction cannot be catalyzed ESERIG
(3) the rate of a first-order reaction does not @ o @y [iEar W?_[‘Elﬁ?( 58]; Ao @
depend on reactant concentrations; the rate . Rfeam E{?_[Q‘B]S{@?q‘ g D
of a second-order r'eachon does depend on @) o4 o R N : BT &
reactant concentrations 2 :
? i ) BEicr FE: T T3] s
(4) the rate of a first-order reaction does B el G e 9
depend on reactant concentrations; the rate AP 2ILTTH 5. I
of a second-order reaction does not depend 4) 239 @ Riege ‘iﬁ[ ﬁw Norgd &7
*  on reactant concentrations %7 @ ey Rigam 27 Reres
137. Among CaH,;, BeH,, BaH,, the order of ionic SIGCe BoRL R e A1
character is
(1) CaH, < BeH, < BaH, 137. Cakly, BeHy, BaH, QPIQRH SIAR dgfen o
(2) BeH, < BaH, < CaH, (1) CaHj < BeH, < BaH,
(3) BeH, < CaH, < BaH, (2)  BeH, < BaH, < CaH,
(4) BaH, <BeH, < CaH, (3)  BeH, < CaHj < BaH,
138. In which case is the number of molecules of water \ﬂ). BaH, < BeH, < CaH,
maximum ? ] Q.f"/
(1) 018 g of water 138. TR (PN CHGT ST SI9F 4T RS 2
(2) 000224 L of water vapours at 1 atm and (1) 0-18g &
27K ' 1atm BFT G 273 K SR 000224 L
(8) 18 mL of water SET oo
(4) . 107 mol of water 3 18 mL S ):L
139. Consider the change in oxidation state of (4) 1073 mol &
Bromine corresponding to different emf values as
shown in the diagram below : 139. Giow for ofte oo oW "aE ﬁ?ﬁ
182V _ 15V QTR SR et SRS REeat 39 ¢ <
BrO, —— BrO; —— HBr0 Y182V _ 15V i
BrOy —— BrO; — HBrO
Br “Toeszv B “Tsgsv Br= Br, < |
Then the species undergoing disproportionation 10652V % 1595V
5 " STREC e T G SRS oriR -
(1) BrO; (1) BrO}
@ Br, 2) Br,
(3) BroOj @/ Bro;
(4) HBrO (4} HBrO
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140, In the structure of C1Fg, the number of lone pairs
of electrons on central atom ‘CI’ is }
(1) two
2) four
(3) . one
(4) three
141. The correct order of N-compounds in its
decreasing order of oxidation states is
(1) HNOg, NO, NH,Cl, N,
(2) HNO4 NH/Cl, NO, N,
(3) HNOg, NO, N,, NH,C]

¥ (4) NH4CI, Nz, NO, HN03

142. Which one of the following elements is unable to
form MFG3 Tion ?

. @1 Al

2) B
(3) Ga
4) In

1438. The correct order of atomic radii in group 13
elements is
(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Ti<In
(3) B<Al<In<Ga<Tl
(4) B<‘Ga<Al<In<Tl

144, Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Zn
(2) Mg
8y Pe
(4) Cu

145. Which of the following statements is not true for
halogens ?
(1) All are oxidizing agents.
(2) All but fluorine show positive _g_ki@ion

states. = r

(3) All form monobasic oxyacids.

(4) Chlorine has the highest -electron-gain
enthalpy.

57
140. CIF, OFR ST CFER @ ‘O 97 XETET
e A
@) R ~ /

3y 9P

@ fea (

141, N-G0 S Sl 7t B0 Afow g(’g"
(1) HNO,, NO, NHCI, N, R /0

s
‘sz HNO,, NH,CI, NO, N, &
(8) HNOg, NO, Ny, NH,Cl >
(4) NH,CL Ny, NO, HNO, Qﬁ"'—a{v

142. a1 @ @ -MF, - ST Cofd TR0 AT Al ?

®» A XL
@ B J f WBf 47
®), Ga. %c &5 ¥, %

N
o o e
148, 1 13 (ST PG TR AR RTC A5
FH ?
(1) Bc<Al<Ga<In<TIl &\\,
(2) Bc<Ga<Al«<Tl<In P{,&-r\
oo
B<Al<In<Ga<Tl Sf(‘;
(4) B<Ga<Al<In<TI s

144, frem] o ORI, (BRSSP A SR
fstaTe R T4 AW 2

~(«1’{ Zn

(2) Mg ?/

(3) Fe £z
/4

{4) Cu '

145. YIS (Fd A @ RfofG ey 777 2
(1) PR SIFPE |

%{;; WY Z AT STEe T (TR |
uﬁ& SRR, QIR SR tef FH |

@) . FReE A e oEd GHUE
= = |
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146, Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) They are formed from bi- and tri-functional
monomers,

Examples are bakelite and melamine.

They contain covalent bonds between
various linear polymer chains,

(2)
(3}

146. GG SRARSTS I SwesfeRs «fFmm sih

A7 i Rfsls eprey 2

M 93 B-fEfe g fa-ferfie sEmE
QA TR = | S

@/ A, G A e |

3 9 Rfsa R AR

- : - A |
(4) They contain strong covalent bonds in their
polymer chains. @) 9T AR JEET T S TR |
147. The difference between amylose and amylopectin | 147. Q3R SRR A1 ;
is (Y WIS 1 4 073 Q32 1 — 6 B-JF
(1} Amylose have 1—4 o-linkage and P ’
1 - 6 B-linkage - (2)  OMEEIESOE 1 - 4 o-IF7 932
(g) Amylopectin have 1 — 4 o-linkage and 1 - 6 p-IT IF
16 P-inkage (3 OIMEEICRBE 154 odF @3
(8) Amylopectin have 1— 4 o-linkage and 1— 6 o-3F AT ;
1 6 a-linkage @ IO GR PRIIOS TR SIRETS
(4) Amylose is made up of glucose and oy
galactose
148. Nitration of aniline in str idic medium al 145, mﬁ LU R
. Nitration of aniline in strong acidic medium also -;fmﬁﬁ?
gives m-nitroaniline because 2 SRS | 97 et
(1) In electrophilic substitution reactions O % l% |1a1\3=| afegrem R R SPRET 6ot
m..

amino group is meta directive.

(2) In absence of substituents nitro group @ adfegrice Yﬂ‘lﬁﬁﬂ@{@ ARG A W
always goes to m-position. m-SFE[S I | &
(8} In spite of substituents nitro group always \(9/ ISk e eS8 ARG B9 > WAl
goes to only m-position. m-SFS I |
(4) In acidic (strong) medium aniline is present @) O O T ey w19 SpiffEf
as anilinium ion. SR PR il 9@ |
149. Which of the following oxides is most acidic in 149, S5 i SIS eipfors ST w1 2
nature ? BeO "____.-—-—-—;0
D (2) BaO = &~
Ul B (3) MgO o > 0 vy QW
(3) MgoO B p- ep
4) Ca0 il
_ e (150 2:3 g TS PTG &45 ¢ wmIPR wba
150, A .mn.:ture of 3-3 g formic aIr;ld gnd 45 g oxahd GG e g9 H,S0, 47 ST% @I 4t =4 |
- e S ggf{ iy Ry Sest 1S Berefs & womia KOH @
B e arensjpasted. thuoyg B U AN 2 | 2 Sist 3 51T (STP) SRS
Weight (in g) of the remaining product at STP & —c
will be m ___________;_:' 1A (g) XA
1 30 ® 30
(2) 28 2y 28
3y 14 (3) 14.
4) 44 4) 44
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151. The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HzOH, CoH;Cl, CoHxONa
(2) CoH5Cl, CoH, C,H;OH
(8) C,HgOH, CyHg, CoHCL
{4) CszOH, CszONa, C2H501
152. Hydrocarbon (A) reacts with bromine by
substitution to form an alkyl bromide which by
¢ Wurtz reaction is converted to gaseous

hydrocarbon containing less than four carbon
atoms. (A) is

(1) CHy=CH,
{2y CHg-~CHg
(3) CH=CH
4) CH,
153. Which oxide of nitrogen is mot a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

151. A Ui Na @9 T RIGTT B 93R PClg 93 ST
Riteam ¢ Tefd IR | B 4R C AFIRR
R TR TRINES iﬁ@l@ﬁ F@ | A B 92
C 97 SBF @

)\% CszOH, 02H5Cl, CszONa
(2)  C,H5C, CyHg, C;H;0H

" (3) C,HyOH, CyHg, CoHgCl
(4) C,H5OH, CoH;ONa, C,H,Cl

162. 3t TGHREE L) Tz @fieE Afegem
A oI @MEG Geod = | @b
RFTT MW 95 430 G TR, IR
WWW%WW | (&) TR

_g/ CHy = CHy

(2) CHy-CHg

(3) CH=CH
(4 CH, e

168, TGS (P SRHRGH 2Ffes @ FsiTe

(1) NO, Gon PHTIR IRTCER e T Y 7777
@ N0 (1 NO, *
@ NO \(ﬁf N205
4) NO )Q
154. The compound C;Hg undergoes the following
reactions : 154, C,H, et wramacy Teed Riseaafer smom 36
3Cl,/A Bry/Fe _ Zn/HC] 3Cly/A  Bry/Fe _Zn/HCL
CrHy >A >B —C CrHy ——> >A 2/¥e pZ/H% ¢
[Tail "—1, L
The product ‘C’ is ﬁﬁznq BesT ‘O T AN %‘i} S ok
(1) o-bromotoluene @
(1)
(2) 3-bromo-2,4,6-trichlorotoluene #Z( 3 G]TGW 2,4,6 fﬂ?@ﬂzﬂ ﬁﬂ?ﬁ
(3) m-bromotoluene (3 m-AWHIEA.
- +
(4) p-bromotoluene @) p-E Giﬁ
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155. Which of the following molecules represents the
order of hybridisation sp2, spz, sp, sp from left to
right atoms ?

(1) CHy=CH-C=CH
(2) CH,=CH-CH = CH,
(3) HC=C-CeCH

(4) CHyz~CH=CH-CH,

166. Which of the following caibocations is expected to
be most stable ?

NO,

(1)
@ g

3)

H
@) Y

157. Which of the following is correct with respect to
-~ T effect of the substituents ? (R = alkyl)

(1) -NRy;<~OR<-F
(2) -NHy>-OR>-F
(8) -NHy;<-OR<-F

:?fﬁﬂ sp’, sp°, sp, sp IR A I ?
CH,=CH-C=CH
(2) CHy=CH-CH=CH,

A
@) HC=C-C=CH +

(4) CH,~-CH=CH-CH,
b

%mm@mwmwm

NO,

156.

1)

Y H

NO,
g
v/ &

NO,

(3)

NO,

< o

157, AfSERF TR - 1 A RwsTy Nosa @id
%3 ? (R = qf¥aT)

(1) -NR;<-OR<-F

2) -NH,>-OR>-F

(3 -NH;<-OR<-F

(4) -NRy>-OR>-F

4 -NR,>-OR>-F.
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158. In the reaction
OH O™ Na*

@ +CHCly + NaOH —— @'CHO

the electrophile involved is

&P
(1) formyl cation (CHO )}

=]
dichloromethyl anion (CHCl,)

@
(3) dichloromethyl cation (CHClg)

. \(jr/ dichlorocarbene (:CCl,)

(2)

158, 7 okt
OH O™Na*

@ + CHCl + NaOH ——> @CHO

e fve sEgarTe Semm o=
Wwﬁm(gnm
Gﬁm@rﬁnniaw(gnmz)

&
GREIRINEET FICET (CHCl,)
RGP (CCly)

(1)
(2)

3
(4)

‘ 169, IR oHPIGT Cwey FoAw  PEAE
I : : p ] SR ST SrefeRRs, Rl R G
159. Carboxylic acids have higher boiling points than SRR (5 Bed & | «afts 75 TR = 9
aldehydes, ketones and even alcohols of
comparable molecular mass. It is due to their (1) FITHEE S si5a
(1) formation of carboxylate ion 2) ©FER SFEH L 3 0 T = R 124G
(2) more extensive association of carboxylic Pl ottes SiTes  JSH
acid via van der Waals force of attraction ! SIGH
Ei; :ormat.ion o:" intramol;ecul;r IIE-[I-];onddjng @) SRR HAF 0T
ormation of intermolecular H-bonding
@ RS HA®A 5159
160. C A C , 18 found ith
60 N°’g’;°:‘“rid ' f:)HmO i °;“ t:’;egc;)m 4160 ¥ @R NaOH @ RiF Geom NaOI @051 A
o .
2 nocuced Dyrasciie § Tole e T TR CaH,,0 % RIFR @ i 430 Tw
yields a yellow precipitate with characteristic
mell. TS (O TR IR RFE o 73R |
A and Y are respectively A G Y JYEFH
N'/ CH, -CH OH qRg I
¢ ) CH,- CH, - OHand Q 2= CHy - QHAR L,
0 (,M
2 CH - CH L‘1 g
@ ¢ ) CH-CHyandl, () Q_ CHy 9% T2
| N XY OH
OH < G g y
exx ¥
3 H,C CH,; - OH 938 1
@3 HyC—{ ) CH,-OHandl » & {-cta =1

CHj

4) CH, G OH and I,

,\\e;% :

— }

CH,

@. CH, G OH 9= I,
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161. Identify the major products P, @ and R in the
following sequence of reactions :

| en>
Anhydrous C)h’dh/
AICL
@ + CHyCH,CH,0l ——2 @
@ 0y y
—_—
) H,07a  F
P Q R
CH,CH,CH, CHO  COOH
[
o) <l 0
CH(CH,), __ OH
(Gﬁ’é
CH,CH,CH; CHO
\}a@ | CHyCH,-OH
OH

CH(CH),

(4)-@’
N

3

=
1 cH,—co-cH,
S ]

162. Which of the following compounds can form a

161. N REFAFFE 449 ooty T P, @ 995 R
fofes 7 :

@ + CHyCH,CH,C1

frrster

AlCl,
_ s

(i) Oy

@ Ho7a R

P R

Q

CH,CH,CH;  CHO  COOH

(1) @ A @ # @
CH(CH,),
@ @'

CH,CH,CHj

*

OH ‘
@’ | CHyCH(OH)CH;

CHO

3

@) | CHyCH,—OH

OH
CH(CHy),
@ @ ’ | CH;-CO-CH,

162. 0 i T RS e 0ol e 2

zwitterion ?
(1) Acetanilide ) enRERs
(2) Benzoic acid @ @SR Ste R
(8) . Aniline (3) e &
4 Glycine W aEpm
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168. The correction factor ‘a’ to the ideal gas equation
corresponds to

vy
(1) volume of the gas molecules %
(2) electric field present between”the gas
molecules
(8) density of the gas molecules

(4) forces of attraction between the gas

molecules

For the redox reaction X

LA

MnO} + 0203_ + H ——>1Mn2+ @Qg -I&\HQO
the correct coefficients of the reactants for the
balanced equation are e

. MnO, 0} H 4
1 2 5 16 -
oo g
2 2 16 5 Y0
3), 16 5 2 “’W
2.
- - ot

165. When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction s

(&%
(1) is doubled - N1 ty
2) is tripled
(2) TS 1p 6 t'\ A‘)“ "
(3) ishalved ) N
(4) remains unchanged o™

166. The bond dissociation energies of X5, Yo and XY
are in the ratio of 1: 0'5 : 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be
(1) 100 kJ mol™
2) 800 kJ mol™
(8) 200 kJ mol™
(4) 400 kJ mol™

167. Which one of the following conditions will favour
maximum formation of the product in the
reaction,

A, (g) + By (g) = Xy () AH=-XkJ?

163. S SyPT SRAT FRCNET @ ‘2’ BT
of S e o

ol

(1) SyPT SR SIS A

@) ST SR SRITO! SfGerwa

(3) SUPLEEITE

(4) o SIS S <

164. WW
o s 2 2
aMnO; +Cy05™ + H;——> Mn?* A?;/og £H,0
> *
& S-SR R SRR SR

&

R

A0 BiagE! [RPRRE SERF 55! ST W
fo; c,03- H'
2 0 S (2
@ 2 16 5
(3) 16 5 2
4 5 16 2

165. REgEd dRR ooy fes =@ I TN
o VIfiEE oS T

%‘@GT P~ 3 ~ -
@ fere L% S
(3) W k’}a 3 pp)/ F/\(‘i/’
@ SERTeAE (o bE

166. X,, Y, 932 XY IR 350 RersH e Siis
1:05: 1; XY 57 AH ¥ — 200 kJ mol™.
X, TCR T84 MRS =i 17 2W

(1) 100 kJ mol

(2) 800 kJ mol™

(8) 200 kJ mol™

(4) 400 kJ mol™

AR A 16 SFPRT FAET

Ay (g) + By (g) = Xp (@) AH=-XkJ
Rfrm R +eE AR 1 5= 2
Q) o s R B

167.

(1) Low temperature and low pressure
(2) High temperature and high pressure ) O% S 3 G it
(3) Low temperature and high pressure @) 5 eoma @ G B
(4) High temperature and low pressure W/\ T Sl 3 i S
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168. Iron exhibiots bf:c structure at room temperature. | 168, WFT F©RT SrEN@AT @R (RREF TIgIPE
i o Sy o o o o o | T 221 00 %8 1 500 Sy o
ity of i rature
that at 900°C (assuming molar mass and atomic A (fee) I W EIC
radii of iron remains constant with temperature) IR | FSF Smral 8 900°C IR Cillﬂ {
is TZ (4@ | IR eemEn fRReEe @Re
, 4 (TR ©F 8 ARMERE o SfRfes @)
(1 )
3.2 @ g_JJ_§ K 7%
3 J§ 3J2 - ‘\,
(2, ——= aR
42 343 Ny
(3) ﬁ gic éﬁ v
2 3 e %
3 —= . (’577 4
@ = ' T vl
y B @ % W N
169. Consider the following species : "V\ﬂ
CN*, CN~, NO and CN 169. FE M o b&
Which one of these will have the highest bond » CN7, GR /
order ? @mm@mﬁaw—nﬂm’m? 7
(1) CN~™ (1) CN~
(2 CN* R 2 on* 2
(3) NO 3 NO
4 CN (4) CN
170. Magnesium reacts with an element (X) to form an [ 170 X QUCER ARG e M c BRI b Bk SRl
ionic compound. If the ground state electronic SR el MRCE W | Zlﬁ X) GIER W
configuration of (X) is 1s* 25> 2p®, the simplest G RAPT 157 267 2p° =, ToF @sifa
formula for this compound is W A9ET TIPS T
(1) MgX, M
(2) Mg,X {/i;%’
1-
(8) MgyX, (3) MgyX, \
4) Mg3X2 (4) MgSXZ
171. Which one is.a wr‘ong .statement ? 171. o3 @Hw SR ?
S Mt i Syl O sl
designated by four quantum numbers. e S Al ]
_ oM e iy fofee st = |
(2) The electronic configuration of N atom is N
1, : RIS SeTge e
182 282 2px 2p;’ 2p; % 1 9 9 2 zpl 2p1 2P1 1
) [ty [t A S e s
3) Total orbital 1
G otoital angu ot momentum of electron | ) s S RETRCR Af TR R
orbital is equal to zero, SR T A |
doi
J ! (4) The value of m for d_2 is zero. 4)  dz-4m 97T T |
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172. Following solutions were prepared by mixing |j72. fifem sfipg 99 NaOH 8 HCI fafeg IO
different volumes of NaOH and HCI of different -
concentrations : fiférs =, ST wefeT Cef A 7
M M
a. 60mL -1\10 HCI + 40 mL ih% NaOH ay -0 = VHCIEA0ImE iNaOE
: r %
b. 55mL % HCL+ 45 mL 2’1—0 NaOH b.  55mL 7o HCl+45mL o NaOH
M M
e 75mL X HCl+ 26 mL = NaOH ¢. 75mL - HCl+25mL — NaOH
' 5 5
M M
d. 100 mL % HC1 + 100 mL % NaOH d. 100 mL T HCl+100 mL 7o NaOH
pH of which one of them will be equal to 1.7 Soiad I P pH 93 At 1 9 T 21?7
(1) a 1) a
2y d @ d
@ b 3 b
4 c 4 c
178. On which of the following properties does the | ws Hmg @ sfesE ©oF ol SRR S
coagulating power of an ion depend ? ) S @ ?
(1) Size of the ion alone POl B
(2) Both magnitude and sign of the charge on (1) SPIa FARCH SHPR
the ion . 2/ AR S 3 STNITT SR T AP
(3) The magnitude of the charge on the ion : ' ‘
dlone 3) Y SR ST
(4) The sign of charge on the ion alone @) ©PIE STRCH ST ST AT TP
174. Given van der Waals constant for NHg, Hy, O HPS
and COy are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most 174. NH,, Hy, Oy ¥R COg 49 O O ST T
easily liquefied ? qF JUEH 417, 0244, 1-36 OR 359 | e
1 Hy mwwmwwﬁ%m?
2 O (1) H,
(3) NHg (2) Os
@) CO,
175. The solubility of BaSOy in water is
242 x 107 gL_1 at 2908 K. The value of its 175. 298_ K _BGT"WFT’J e BaSO, W3 Ui
solubility product (K,p) will be 242 x 10 gLl | 97 TS GTICEH (Kyp) A
(Given molar mass of BaS0,=233 g mol ™} N (CASTIECATE, BaS0, Wd (NIl ©F =233 ¢ mol ™)
12 1272
1) 108 x 1072 mol? L™ ™ (1) 108 107" mol” L
7 14 1272
@ 1:08x 104 mol® L? Qf @) 108 x 1074 mol” L
= 10 1272
@ 108x100melL? Va7 I @ 108x10¥mel’L> <7
v 5 By27 r;.;‘c:/’?
@) 1:08x 108 mol” L~ J @ . 1:08x 107 mol" L% <"
B .
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176. The type of isomerism shown by the complex|17g, [CoCly(en),] TG G5 & TS vl I

[CoClylen),] is 1 R
(1) Coc{rdir'xation isomerism @ SR S
(2 gemzatloon isc:,‘merisx'n @) e ST
( \ Ometr%cal isomerism (4) T I
(4) Linkage isomerism L2
177. Which one of the following ions exhibits | 120 A R SR d-d FAIBIY QIR SRR 4
d-d transition and paramagnetism as well ? Lo 2 (TR 2
§) @203-75 ' < | @ Con0f”
57

p (2) MnO,
@ M0, R . 24
3),. Croy . V4 3 OO0y

2

¥ MnO] @ MnOj

178. Iron carbonyl, Fe(CO); is 178. SRS FIHe1, Fe(CO); =0T

(1) mononuclear (1) 93 o
(2) trinuclear 2 fafrsig
(3) tetranuclear @) Tge ST
(4) dinuclear @ RS

179. Match the metal ions given in Column I with the 179. W 1 47T Yiod SIRNCGH 7 38 11 998 SREHE

spin magnetic moments of the ions given in 55 SN TS T AT
Column II and assign the correct code : Efﬁ R I k)

et 359
Column 1 Column IT — e
a. Co™ V8 BM. o . G BM
a. (H] 1. WXL,
b. Cr* V35 B.M. A
b. o ii. /35 B.M.
c. Fe* V3 BM. .
\ c. Fed* iti. V3 BM.
d. Ni* V24 BM. ~
d. Ni iv. 24 BM.
V15 B.M.
v. 15 BM.
- & ¢ d a b c d
(1) i ii iii iv ) . .
@ iv i iy i (D) ot il ool 2 Y
. ] . @2 iv i ii it
_ Ly \ o . . > 2
(4) ill v i i (3) v v 1 1
180. Th beh th W e, i y
- 1lhe geometry and magnetic aviour of the .
complex [NI(CO),] are 180. [Ni(CO),] Sfe1 dsiftar Suififs @ dhress
L;/Qtrahedral geometry and diamagnetic (1) SR T SIS @3 g P
Sw‘y and paramagnetid"“ (2) FNW?[ q 5|G$EHSH Gl]”f":@ <R W‘Lﬁﬁ@'ﬂ
(8)  square planar geometry and diamagnetic @) e eferarel Suife «a Repad
@ tetrahedral geometry and paramagnette’” 4) TPIeTR SUIMfe 932 SHEEIT
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
‘the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
AMttendance Sheet second time will be
deemed mnot to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4, Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
i their conduct in the Examination Hall. All
*@ cases of unfair means will be dealt with as per
“g\ Rules and Regulations of this examination.
*

| @@ |6 Nopart of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

e Ptk TrReiEg 9
©lF AR 7@ TS 2H |

e 9 Warwed Row oEte fom
@ ST ©F SIEE Syl FAe ARE
T

AN TSRS AFCF S A ~1a
o A e 432 GeAfEfs wiva PSR A
A FE ATTEF G I AT A
Soififs oI RO I 1 AR IR G
=@ A OeF @ S AR @R Ao
SETAIE SRR o 1 RS 3 |

5T |

tte A ARPE | SPIAT ARCR e
R @3 R FERR orpiE RoRf
2 |

@I SIS AR <P 3 TSI AIT
(I SI FF M 5T

AW R 8 TE T TS TS
SR Froeed  SofEfs otg Sy
FJF |
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